w I
R ARAOROAR

RD2RABRK RO RR 2o THZ RSV,

O 2x*+7x+3=0 @ x*+b5x—-2=0

® x*-3x+2=0 @ 7x*-4x-3=0

BREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © LD R



w I
R ARAOROAR

RD2RABRK RO RR 2o THZ RSV,

O 2x*+7x+3=0 @ x"+5x—2=0
= -3 __1 =ﬂ
* T2 2
_ —7x/7P-4%x2x%3 _ —5+/5'—4x1x(-2)
2%2 g 2x1
_ —7+y/49-24 _ —5+/25+8
4 2
_ 7425 L —5%/33
4 2
_ —7%5
4
x=-3 x=—%
® x*-3x+2=0 @ 7x*—4x-3=0
.7c=l x=£ x=—i =1
3°'" 3 7
_3%/(=3)"—4x1x2 LA/ (=4 -4xTx(=3)
2X3 2X17
_3=/9-8 _4+/16+84
6 14
_3=4/1 _ 4%4/100
6 14
_3%1 _4=10
6 14
_1 -2 A
X 3 , X 3 X 7 , X

BREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net © LD R



